
Racor Filter Division Europe
600 Series Spin-on Filters
Technical Bulletin



2

Mobile Fuel Filtration - 600 Series
All 600 Series Spin-on fuel filter/water separators feature  
multiple fuel ports and a built in mounting bracket for 
installation convenience and flexible mounting.

The 600 Series feature multiple fuel 
ports with four inlet options and 
three outlet options. Inlet and outlet 
threads are available in either metric 
M16 x 1.5 or  3/8”-18 NPTF (SAE 
J476) for the 645R, 660R and 690R 
and 3/4”-16 UNF (SAE J1926) for the 
6120R. These filter assemblies 
provide flexibility during mounting 
to fit any engine application.

Additional 600 Series features 
include spin-on, high-capacity, 
Aquabloc® II replaceable filter 
elements which stop water, remove 
solid contamination, and are 
available in 2, 10 and 30 micron 
ratings. 

Filtration needs should be based  
on application, fuel quality, 
operating climates, and maintenance 
schedules. 

Also included are spin-on water 
collection bowls. The clear bowl 
option will not discolour from 
alcohol, additives, or UV light and 
have a leak-proof, positive seal, 
self-venting drain for easy servicing. 
Water and contamination levels  
can be seen easily at a glance.

Options for the 600 Series filters 
include: water detection kits  
(for diesel applications only), 
vacuum or compound gauges and 12 
or 24 volt dc fuel heaters.

Aquabloc® II media is pleated, 
allowing greater surface area 
exposure for fuel filtration and an 
increased dirt-holding capacity.

Positive seal self-venting drain 
eliminates leaks and speeds service.

Water sensor and vacuum 
gauges to signal service  

are valuable options available 
for most models.

Polymer bowls are virtually 
indestructible. They won’t 

discolour from exposure 
to alcohol, additives or UV 

light – a see through that 
stays see-through. A die-cast 

aluminium bowl is available for  
most models.

The best gaskets and o-rings 
available promise consistent, 

sure seals.

Multiple fuel ports with four 
inlet and 3 outlet options.



3

Diesel and Petrol Spin-On Series
- 600 Series 

Model

Threads
MTC- Metric 16mm
- Blank indicates 
3/8” NPTF

Box 1 Box 2 Box 3 Box 4 Box 5 Box 6

6

Micron Rating
2-2 Micron
10-10 Micron
30-30 Micron

5

Heater
12-12V / 200W bowl heater
24-24V / 200W bowl heater
HH - 12-24V head heater *4

4

Filter Series (Head)

6-600

1

Flow Rate
45 US Gallons
60 US Gallons
90 US Gallons
120 US Gallons
160 US Gallons

2

Bowl Material
R - Clear Bowl

3

6 120 R 24 30 MTC

Maximum Flow Rate 170 L/hr (45 G/hr)  227 L/hr (60 G/hr) 341 L/hr (90 G/hr) 454 L/hr (120 G/hr)
Port Size M16 x 1.5 – 3/8NPTF M16 x 1.5 – 3/8NPTF M16 x 1.5 – 3/4SAE  M16 x 1.5 – 3/4SAE
No. of Ports 7 7 7 7 
          Total Inlets 4 4 4 4
          Total Outlets 3 3 3 3
Centre Threads 1”-14 1”-14 1”-14 1”-14
Height mm 216 259 284 358
Depth mm 114 114 114 114
Width mm 114 114 114 114 
Weight Kg 1.07 1.17 1.2 1.8
Maximum Pressure Bar *1 2.07 2.07 2.07 2.07
Available Options*2                  Water Sensor and Heater available for all models
Bowl Capacity                   Water capacity =118ml, with heater = 104ml for all models  
Water Removal Efficiency                                99%
Operating Temperature                   -40o to +255oF (-40o to +124oC) 

645 660 690 6120

1 Pressure installations are applicable up to maximum PSI shown. Vacuum installations are recommended.
2 Not for use with gasoline applications.
3 Maximum power requirements for in-bowl heater option: 12 vdc (200 watt) = 16.6 amps, 24 vdc (200 watt) = 8.3 amps - see Accessories section for heater relay kits, if needed.
4 Head heater models are available in 60, 90 and 160 only and come with M16x1.5 metric ports

Model



4

Refer to Mounting information and 
Installation Diagram and install  
as follows:

1.  Make sure engine is off and cool  
to touch.

2.  Sealing:

•	 NPT: Apply thread sealant to 
NPT fittings (do not use thread 
tapes as particles may break off 
and contribute to clogging 
element). 

•	 SAE: Apply motor oil or diesel 
fuel to O-ring on UNF fittings.

•	 Metric: Use appropriate fittings 
with plastic seal or washer.

3.   Thread fittings into appropriate 
fuel ports and manually tighten. 
Plug unused ports (if any) with 
port plugs and manually tighten.

4.  Mount filter vertically in a 
protected area and away from  
heat sources. Maintain at least 2.0” 
(5.1 cm) of clearance below filter 
for draining water and  
servicing element.

5.  Attach fuel lines to filter.  
Avoid tight bends and rubbing 
areas when routing hose.

6.  Connect water probe and heater 
wires (if supplied).

7.  Open vent plug and operate hand 
primer pump until fuel purges 
from vent.

8.  Close vent plug and start engine. 
Correct as necessary with  
engine off.

OUTOUT

ININ

2.25 in.
(5.7 cm)

3/8 in. (8 mm) diameter clearance for fasteners.

660R*: 
10.2 in. (25.9 cm)

690R*: 
11.0 in. (27.9 cm)

6160R*: 
14.2 in. (36.1 cm)

Mounting Information

Installation Instructions

IN

OUT

IN



5

Test Data

Installation Diagram

Installation diagram applies to all 600 Series filters. Model 6120HH shown above. Racor offers hose  
and fittings to complete this installation - see Accessories.

Fuel Tank
(Ideal Vacuum Side Installation)

Fuel Tank Above Filter
(Head pressure should not 
exceed max. PSI of filter)

Fuel Tank Below Filter
(Lift should not exceed 4 inHg.)

Install shut-off valve when fuel  
tank is higher than filter

To maintain prime, install check 
valve (with light or no restriction 

when tank is lower than filter

Fuel Tank
(Pressure Side Installation)

Fuel Tank
(Vacuum Side Installation)

Optional Fuel Transfer Pump 
Do not exceed maximum PSI or 

flow rate of filter. Not ideal-pumps 
emulsify water hindering filter 

performance.

Maintain a service clearance above filter 
assembly of at least 5.0 in. (12.7 cm).

Engine

Fuel Transfer Pump 
(Ideal vacuum side 

installation).

Valve 3

Valve 1 Valve 2

Test results are from controlled laboratory testing. Field results may vary.

*PSI X 2.036 = inHg. (PSI X 6.895 = kPa)

Optional Bypass Installation  
and Operation 

(Allows user to service filter without 
shutting down engine.)

P
S

I*

P
S

I*

Flow (GPH)
SAE J905 Fuel Flow Restriction

2.0

1.5

1.0

0.5

0.0

8

6

4

2

0
0            30            60            90         120 0           100          200         300         400          500         600

          445        460          490        4120         445            460          490         4120/160

Grams
SAE J905 Solids Capacity

(using: SOFT-2A; 10 mic, Elements)

Valves
Unit On-line
Unit Off-line

1
Open
Closed

2
Open
Closed

3
Closed
Open



6

Service Instructions

Trouble Shooting

Element replacement frequency 
is determined by contamination 
level in fuels.

Fuel flow to engine becomes 
restricted as element gradually 
blocks with contaminants, resulting 
in noticeable power loss and/or hard 
starting. As a guideline, change 
element every 500 hours, 10,000 
miles, every other oil change, 
annually, or at first indication of 
power loss, whichever occurs first. 
Always carry extra replacement 
elements as one tankful of 
excessively dirty fuel can quickly 
block a filter.

1.  Make sure engine is off and cool  
to touch.

2.   Close all fuel valves, if applicable, 
to make sure excess fuel does dot 
spill during servicing.

3.   Disconnect water probe and 
heater connectors, if equipped.

4.   Open vent plug on mounting 
head.

5.  Drain unit of fuel.

6.  Remove bowl and element. 
Dispose element properly.  
Bowl is reusable.

7.  Lubricate new element seals with 
motor oil or clean fuel and install 
only with new element.

8.  Re-install bowl and tighten by 
hand only - do not use tools.

9.  Connect water probe and heater 
connectors, if equipped.

10. Open all fuel valves, if applicable.

11.  Operate hand primer pump until 
fuel purges from vent.

12.  Close vent plug and start engine. 
Correct as necessary with  
engine off.

Draining the Collection Bowl

Water is heavier than fuel and will 
settle to bottom of bowl and appear 
different in color if collected 
in a clear jar. In high humidity 
environments, check bowl frequently 
(daily if a poor fuel source is 
suspected). 600 Series bowls are 
equipped with a water sensor port 
that will accept a water probe (sold 
separately) and will alert operator of 
a high water condition in the filter.

Do NOT use water probe electronics 
in gasoline applications - an 
explosion could occur.

1.  Make sure engine is off and cool  
to touch.

2. Open vent plug.

3.  Drain water from filter by 
opening self-venting drain. Close 
as soon as all water has 
evacuated. If drain is open too 
long, the entire filter may drain 
completely of water and fuel.

4. Follow priming instructions.

Priming Instructions

1.  Prime filter by operating hand 
primer pump until fuel spills out  
of vent port.

2. Close vent plug snugly.

3.    Verify all other connections  
are tight.

4.   Start engine and check for leaks. 
Correct as necessary with  
engine off.

If a 600 Series filter fails to hold 
prime, first check vent plug, drain 
valve, fittings, head, element and 
bowl are properly tightened. Next, 
check fuel line connections and verify 
that they are free of pinches or 
unnecessary bends and check to see 
if fuel tank strainer (or pick-up tube) 
is clogged. 

If problems persist and element 
is new, contact Racor  
Technical Support:

Tel No: +44 (0)1924 487000
Fax No:+ 44 (0)1924 487001
Email: filtrationinfo@parker.com
 RFTC@parker.com 



7

Replacement Parts

4

6

8

5

1

3

645R, 660R and 690R

Part Number Description

1

RK22098
Mounting Head Kit (3/8”-18 NPTF)
(includes #2, and plug kit 3/8” NPT)

RK 22423
Mounting Head Kit (M16 X 1.5)
(includes same as #2)

2 RK22998 Element Gasket Kit

3 See Replacement Element Chart

4 RK22333 Bowl Gasket Kit

Replacement Kits

5

RK21113-13-111 Clear Bowl Kit

RK22616-012 Heated Clear Bowl Kit
(same as above, 12 vdc heater)

RK22616-022 Heated Clear Bowl Kit
(same as above, 24 vdc heater)

6 RK20126 Plug Kit (½”-20 SAE)

7 RK30476 Self-Venting Drain Kit

8

RK309643 Water Probe Kit

Additional Parts (not shown)

01SP-6S Metal Plug (3/8”NPTF)

22231 Plug Kit (3/8”NPT)

RK223231 Heater Connector Kit

22249 Installation Instructions

1Includes water probe port plug 1/2” SAE.
2 In-bowl heater may require a Heater Relay Kit.

   Maximum power requirements are: 12 vdc =16.6 amps, 24 vdc = 8.3 amps.
3  Water probe must be used with a Water Detection Kit

   - see Accessories. Do not use on gasoline applications.

Replacement Elements

Model Number 2 Micron (Final Filtration) 10 Micron (Secondary Filtration) 30 Micron (Primary Filtration)

645R R45S or R47S R45T R45P

660R R60S R60T R60P

690R R90S R90T R90P

 Please note: for head heater models the replacement elements available are R60T-D-MAX, R90T-D-MAX, and R160T

2



8

Replacement Parts
6120R

Part Number Description

1

RK22098
Mounting Head Kit (3/8”-18 NPTF)
includes #2, and plug kit 3/8” NPT)

RK 22423
Mounting Head Kit (M16 X 1.5)
(includes same as #2)

2 RK22998 Element Gasket Kit

Replacement Elements:

3

R120S 2 micron

R120T 10 micron

R120P 30 micron

Replacement  Kits

4 RK 30965 Bowl Gasket Kit

5

RK300631 Clear Bowl Kit

RK309002 Heated Clear Bowl Kit 
(same as above, 12 vdc heater)

RK309252 Heated Clear Bowl Kit  
(same as above, 24 vdc heater)

6 RK20126 Plug Kit (½” SAE)

7 RK30476 Self-Venting Drain Kit

8

RK309643 Water Probe Kit

Additional Parts (not shown)

01SP-6S Metal Plug (3/8”NPTF)

22231 Plug Kit (3/8”NPT)

RK 30876 Heater Connector Kit

RK 30058 Drain Valve Seal Kit

22249 Installation Instructions

1 Includes water probe port plug 1/2” SAE.
2 In-bowl heater may require a Heater Relay Kit.

   Maximum power requirements are: 12 vdc =16.6 amps, 24 vdc = 8.3 amps.
3 Water probe must be used with a Water Detection Kit

   - see Accessories. Do not use on gasoline applications.

1

3

2

9

5

67

4

8



9

Replacement Parts
660HH

Part Number Description

1 On Request Mounting head kit M16 x 1.5

2 On Request Element Gasket

Replacement Elements:

3

R60T-D-MAX 10 Micron

R90T-D-MAX 10 Micron

R160T-D-MAX 10 Micron

4

R60P-D-MAX 30 Micron

R90P-D-MAX 30 Micron

R160P-D-MAX 30 Micron

Replacement Kits:

5 DRK00055 Clear Bowl Kit

6 RK20126 Plug Kit (½” SAE)

7 RK30476 Self-Venting Drain Kit

8 RK309641 Water Probe Kit

1  Water probe must be used with a Water Detection Kit - see Accessories.  
Do not use on gasoline applications.

2

9

8

5

6

3, 4

1

7



10

Customer Interface Drawings
645R

690R

660R

6120R

Side View

Side View

Side View

Side View

Front View

Front View

Front View

Front View



11

Customer Interface Drawings

11

690RHH

Front View Side View Rear View

660RHH

Front View Side View Rear View

6160RHH

Front View Side View Rear View



Parker Hannifin Manufacturing (UK) Ltd.  
Racor Filter Division Europe 
Tel: +44(0)1924 487000
Email: filtrationinfo@parker.com 
www.parker.com/rfde

Catalogue: FDRB520UK 09/2011

Your local authorized Parker distributor

© 2009 Parker Hannifin Corporation. All rights reserved.

European Product Information Centre

Free phone: 00 800 27 27 5374

(from AT, BE, CH, CZ, DE, DK, EE, ES, FI, 

FR, IE, IL, IS, IT, LU, MT, NL, NO, PL, PT, RU, 

SE, UK, ZA)

AE – UAE, Dubai 
Tel:  +971 4 8127100 
parker.me@parker.com

AR – Argentina, Buenos Aires 
Tel:  +54 3327 44 4129

AT – Austria, Wiener Neustadt 
Tel:  +43 (0)2622 23501-0 
parker.austria@parker.com

AT – Eastern Europe,  
Wiener Neustadt 
Tel: +43 (0)2622 23501 900 
parker.easteurope@parker.com

AU – Australia, Castle Hill 
Tel: +61 (0)2-9634 7777

AZ – Azerbaijan, Baku 
Tel: +994 50 2233 458 
parker.azerbaijan@parker.com

BE/LU – Belgium, Nivelles 
Tel: +32 (0)67 280 900 
parker.belgium@parker.com

BR – Brazil, Cachoeirinha RS 
Tel: +55 51 3470 9144

BY – Belarus, Minsk 
Tel: +375 17 209 9399 
parker.belarus@parker.com

CA – Canada, Milton, Ontario 
Tel: +1 905 693 3000

CH – Switzerland, Etoy 
Tel: +41 (0) 21 821 02 30  
parker.switzerland@parker.com

CL – Chile, Santiago 
Tel: +56 2 623 1216

CN – China, Shanghai 
Tel: +86 21 2899 5000

CZ – Czech Republic, Klecany 
Tel: +420 284 083 111 
parker.czechrepublic@parker.com

DE – Germany, Kaarst 
Tel: +49 (0)2131 4016 0 
parker.germany@parker.com

DK – Denmark, Ballerup 
Tel: +45 43 56 04 00 
parker.denmark@parker.com

ES – Spain, Madrid 
Tel: +34 902 330 001 
parker.spain@parker.com

FI – Finland, Vantaa 
Tel: +358 (0)20 753 2500 
parker.finland@parker.com

FR – France, Contamine s/Arve 
Tel: +33 (0)4 50 25 80 25 
parker.france@parker.com

GR – Greece, Athens 
Tel: +30 210 933 6450 
parker.greece@parker.com

HK – Hong Kong 
Tel: +852 2428 8008

HU – Hungary, Budapest 
Tel: +36 1 220 4155 
parker.hungary@parker.com

IE – Ireland, Dublin 
Tel: +353 (0)1 466 6370 
parker.ireland@parker.com

IN – India, Mumbai 
Tel: +91 22 6513 7081-85

IT – Italy, Corsico (MI) 
Tel: +39 02 45 19 21 
parker.italy@parker.com

JP – Japan, Tokyo 
Tel: +(81) 3 6408 3901

KR – South Korea, Seoul 
Tel: +82 2 559 0400

KZ – Kazakhstan, Almaty 
Tel: +7 7272 505 800 
parker.easteurope@parker.com

LV – Latvia, Riga 
Tel: +371 6 745 2601 
parker.latvia@parker.com

MX – Mexico, Apodaca 
Tel: +52 81 8156 6000

MY – Malaysia, Shah Alam 
Tel: +60 3 7849 0800

NL – The Netherlands,  
Oldenzaal 
Tel: +31 (0)541 585 000 
parker.nl@parker.com

NO – Norway, Ski 
Tel: +47 64 91 10 00 
parker.norway@parker.com

NZ – New Zealand, Mt Wellington 
Tel: +64 9 574 1744

PL – Poland, Warsaw 
Tel: +48 (0)22 573 24 00 
parker.poland@parker.com

PT – Portugal, Leca da Palmeira 
Tel: +351 22 999 7360 
parker.portugal@parker.com

RO – Romania, Bucharest 
Tel: +40 21 252 1382 
parker.romania@parker.com

RU – Russia, Moscow 
Tel: +7 495 645-2156 
parker.russia@parker.com

SE – Sweden, Spånga 
Tel: +46 (0)8 59 79 50 00 
parker.sweden@parker.com

SG – Singapore 
Tel: +65 6887 6300

SK – Slovakia, Banská Bystrica 
Tel: +421 484 162 252 
parker.slovakia@parker.com

SL – Slovenia, Novo Mesto 
Tel: +386 7 337 6650 
parker.slovenia@parker.com

TH – Thailand, Bangkok 
Tel: +662 717 8140

TR – Turkey, Istanbul 
Tel: +90 216 4997081 
parker.turkey@parker.com

TW – Taiwan, Taipei 
Tel: +886 2 2298 8987

UA – Ukraine, Kiev 
Tel +380 44 494 2731 
parker.ukraine@parker.com

UK – United Kingdom,  
Warwick 
Tel: +44 (0)1926 317 878 
parker.uk@parker.com

US – USA, Cleveland  
Tel: +1 216 896 3000

VE – Venezuela, Caracas 
Tel: +58 212 238 5422

ZA – South Africa, 
Kempton Park 
Tel: +27 (0)11 961 0700 
parker.southafrica@parker.com

Parker Worldwide

European Product Information Centre

Free phone: 00 800 27 27 5374

(from AT, BE, CH, CZ, DE, DK, EE, ES, FI, 

FR, IE, IL, IS, IT, LU, MT, NL, NO, PL, PT, RU, 

SE, UK, ZA)


